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Problem 1. Determine whether the following improper integrals converge.
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Problem 3. Consider the following integrals. Notice they all have finite limits of inte-
gration. Why should we consider them improper integrals? Make a guess about how we
might define them in terms of limits and determine whether each converges or diverges.

11
a fy 73 do
b. [ Lz de
- Jo zi7m

11
c. [y zzdz

1
o[ b

11
e [y zdz

[ Lo
o | maes b ([ ")
o X a=ot" o
|
= LM lxlh| )
. a- ot o

b 2 (l —a

a—> D.‘

= Convaerges



o | md- bk (fi""’d‘)

a=>ot

|
2
. 3 44
a- ot el

b 20-4)

a=0o

- 3
= COkVMJM

o | ta-b (fxw)

a=>o"

|
= LM - -,L.l | )
a- ot &

s b Q-2

a— D*

= oo 0‘-\1\w3¢

©
(_ﬁ.
¥~

~

((

"
—
T

/\
T
R |~
o
¥

N—



